i é\L}/? iT Arithmetic of Percents

Name: Date: Score:
45 x70% = 30 +80% =
6+ 80% = 24 +50% =
36 +~50% = 20 —=70% =
30 +40% = 38 +80% =
37 +10% = 46 ~10% =
45 +80% = 8 +40% =
11 +10% = 9-+40% =
48 —20% = 46 +~ 80% =
40 +~ 80% = 41 +50% =
32+ 10% = 26 —20% =
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i %’9} iT Arithmetic of Percents

Name: Date: Score:
45 x70% = 31.5 30+ 80% = 37.5
6-+80% = 7.5 24 +50% = 48
36 +50% = 72 20—70% = 19.3
30 +40% =75 38 +80% = 47.5
37+ 10% = 370 46 +~ 10% = 460
45 +~80% = 56.25 8 +40% = 20
11 +10% = 110 9-+40% = 22.5
48 —20% = 47.8 46 +~ 80% = 57.5
40 + 80% = 50 41 +50% = 82
32+ 10% = 32.1 26 —20% = 25.8

www.snowmath.com


https://www.snowmath.com

